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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined partdiffers
from the other three in pronunciation in each of the following questions

Question 1: A. language B. massage C. marriage D. shortage
Question 2: A. passed B. realized C. wished D. touched

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other
three in the position of primary stress in each of the following questions.

Question 3: A. animal B. memory C. tradition D. socialize

Question 4: A. vacant B. secure C. oblige D. equip
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the
following questions.

Question 5: The tabloids completely that story about Bruce Willis. It's not true at all.
A. stood out B. filed in C. made up D. turned over
Question 6: He is exhausted. He around the whole afternoon trying to clean the house
before the guests arrive.
A. was running B. has been running C. be running D. has run
Question 7: It is imperative that your face book password confidential.
A. need keeping B. needs to be kept C. needed keeping D. need to keep
Question 8: Where’s that dress that your boyfriend gave you?
A. lovely long pink silk B. lovely pink long silk
C. long pink silk lovely D. pink long lovely silk
Question 9: “What happened to the plane?” “It had hardly touched down it burst into flames.”
A. than B. that C. while D. when
Question 10: According to FAO, Vietnam is second largest coffee producer in the world after
Brazil.
A. the B.a C.an D.g
Question 11: Celebrities get tired of everywhere they go.
A. recognizing B. being recognized
C. having recognized D. having been recognized
Question 12: The salary of a computer programmer is a teacher.
A. as twice much as B. twice as higher as that
C. twice as high as that of D. as much as twice of
Question 13: An only child often creates an friend to play with.
A. imagery B. imaginable C. imaginary D. imaginative
Question 14: The economic is in danger of collapse unless reforms are implemented.
A. off-putting B. hard-charging C. far-reaching D. long-lasting
Question 15: high school, Nam attended a university in the city centre.
A. Having been finished B. To finish
C. To have finished D. Having finished
Question 16: After feeling off for days, Tom finally went to see his doctor.
A. food B. color C. fitness D. balance
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Question 17: Please don’t a word of this to anyone else, it’s highly confidential.

A. mutter B. pass C. breathe D. speak
Question 18: We should make full use the Internet as it is an endless source of information.
A. of B.in C. from D. with
Question 19: , We tried our best to complete it.
A. Difficult as the homework was B. As though the homework was difficult
C. Thanks to the difficult homework D. Despite the homework was difficult

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the
underlined word(s) in each of the following questions.

Question 20: Media plays a significant role in keeping everyone updated about the various events
around the world.

A. informed B. disinterested C. reluctant D. indifferent
Question 21: You should drive it home to him that social network addiction will do him no good.

A. take him home B. make him understand

C. allow him to use D. let him drive home

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the
underlined word(s) in each of the following questions.

Question 22: My mother had some shortcomings as a film director, but she was a good mother.
A. strengths B. techniques C. disadvantages D. flaws

Question 23: Jose had a hard time comparing the iPhone to the Samsung phone because to him they were
apples and oranges.

A. completely different B. very complicated
C. very similar D. containing too many technical details

Mark the letter A, B, C, or D on your answer sheet to indicate the option that best completes to
each of the following exchanges.

Question 24: Alice meets Mary at their class after Mary has had her hair cut.
Alice: "What an attractive hair style you have got,Mary!"

Mary: «
A. Thank you very much. | am afraid B. You are telling a lie
C. Thank you for your compliment D. I don't like your sayings .

Question 25: Tom and Tony are talking about a tennis game.
Tom: | thought your tennis game was a lot better today, Tony.

Tony: I'l thought it was terrible.
A. You can say that again B. No, I'think so
C. Thanks! Same to you D. You've got to be kidding

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks from 26 to 30

No one runs the internet. It’s organized as a decentralized network of networks. Thousands of
companies, universities, governments, and other (26) operate their own networks and exchange
traffic with (27) other based on voluntary interconnection agreements.

The shared technical standards (28) make the internet work are managed by an organization
called the Internet Engineering Task Force. The IETF is an open organization; anyone is free to attend
meetings, propose new standards, and recommend changes to existing standards. No one is required to
adopt standards endorsed by the IETF, but the IETF’s consensus-based decision-making process helps to
(29) that its recommendations are generally adopted by the internet community.
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The Internet Corporation for Assigned Names and Numbers (ICANN) is sometimes described as being
(30) for internet governance. As its name implies, ICANN is in charge of distributing domain
names (like vox.com) and IP addresses. But ICANN doesn’t control who can connect to the internet or
what kind of information can be sent over it.

(Adapted from https://www.vox.com/)

Question 26: A. entities  B. states C. terms D. amounts
Question 27: A. every B. each C.all D. another
Question 28: A. when B. that C. what D. who
Question 29: A. ensure  B. stress C. exchange D. function
Question 30: A. interested B. cheerful C. curious D. responsible

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions from 31 to 35

Newspapers and television news programs always seem to report about the bad things happening in
society. However, there is a place where readers can find some good news. That place is the website
called HappyNews. The man behind HappyNews is Byron Reese. Reese set up HappyNews because he
thought other news sources were giving people an unbalanced view of the world. Reese said
about HappyNews, “The news media gives you a distorted view of the world by exaggerating bad news,
misery, and despair. We’re trying to balance out the scale.”

Not everyone agrees with Reese’s view, though. Many people think that news sources have a
responsibility to provide news that is helpful to people. People need to know about issues or problems in
today’s society. Then they are better able to make informed decisions about things that affect their daily
lives. Reese said that HappyNews is not trying to stop people from learning about issues or problems.
HappyNews is just trying to provide a balanced picture of today’s world.

By the end of its first month online, HappyNews had more than 70,000 unique readers. About 60
percent of those readers were women. Something else unique makes HappyNews different from any of
the other news or information websites that are on the Internet. Unlike many other websites, HappyNews
gets fan mail from its readers on a daily basis.

Question 31: Which of the following is the best title for this passage?

A. “Byron Reese Tells People How to Be Happy”
B. “Newspapers vs. Online News”

C. “Why Women Like HappyNews”

D. “Good News for a Change”

Question 32: What does “exaggerating” mean in this reading?

A. explaining B. improving C. worsening D. editing
Question 33: The word “they” in paragraph 2 refersto___ .

A. sources B. issues C. problems D. people
Question 34: How is HappyNews different than other news sources?

A. All of the stories are written by Reese. B. Its stories are not about bad things.

C. HappyNews does not exaggerate its stories. D. The website only has stories about women.

Question 35: Why might some people NOT like HappyNews?

A. Reese’s stories are about misery and despair.

B. Some sources give a balanced view.

C. The stories are from around the world.

D. It doesn’t tell them about important issues or problems.
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Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions from 36 to 42

In the early decades of the United States, the agrarian movement promoted the farmer as society's
hero. In the minds of agrarian thinkers and writers, the farmer was a person on whose well-being the
health of the new country depended. The period between the Revolution, which ended in 1783, and the
Civil War, which ended in 1865, was the age of the farmer in the United States. Agrarian philosophers,
represented most eloquently by Thomas Jefferson, celebrated farmers extravagantly for their supposed
centrality in a good society, their political virtue, and their Superior morality. And virtually all policy
makers, whether they subscribed to the tenets of the philosophy held by Jefferson or not, recognized
agriculture as the key component of the American economy. Consequently, government at all levels
worked to encourage farmers as a social group and agriculture as economic enterprise.

Both the national and state governments developed transportation infrastructure, building canals,
roads, bridges, and railroads, deepening harbors, and removing obstructions from navigable streams.
The national government imported plants and animals variety and launched exploring expeditions into
prospective farmlands in the West. In addition, government trade policies facilitate the export of
agricultural products.

For their part, farmers seemed to meet the social expectations agrarian philosophers had for them,
as their overall horizons and greater self-respect, both products of the Revolution, were reflected to
some degree in their behavior. Farmers seemed to become more scientific, joining agricultural societies
and reading the farm newspapers that sprang up throughout the country. They began using improved
implements, tried new crops and pure animal breeds, and became more receptive to modern theories of
soil improvement.

They also responded to inducements by national and state governments. Farmers streamed to the
West, filling frontier lands with stunning rapidity. But farmers responded less to the expectations of
agrarians and government inducements than to growing market opportunities. European demand for
food from the United States seemed insatiable. War, industrialization, and urbanization all kept demand
high in Europe. United States cities and industries grew as well; even industries not directly related to
farming thrive because of the market, money, and labor that agriculture provided.

Question 36: What does the passage mainly discuss?

A. The role of the national government in the development of agriculture
B. Improvements in farming techniques

C. The agrarian philosophy of Thomas Jefferson

D. The impact of the increased importance of the farmer

Question 37: The word “depended” is closest in meaning to
A. relied B. improved C. explained D. demanded
Question 38: The author mentions Thomas Jefferson in paragraph 1 as an example of

A. an inventor of new farming techniques

B. a farmer who guided the agrarian movement toward an emphasis on economic development

C. a leader during the Revolution

D. a philosopher who believed farmers were essential to the creation of a good society
Question 39: The phrase “subscribed to” is closest in meaning to

A. thought about B. contributed to C. agreed with D. expanded on
Question 40: Which of the following statements is supported by the information in paragraph 1?

A. The majority of farmers worked for the government.

B. All government policy makers accepted Jefferson’s views of agriculture and farmers.

C. Agricultural production declined between 1783 and 1861.
D. Agriculture was a vital part of the nation’s economy.
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Question 41: According to the passage , the national and state governments did all of the following
EXCEPT

A. develop policies that helped farmers export their products
B. build roads

C. give farmers money for their crops

D. import new plant varieties

Question 42: What does the pronoun “They” in the third paragraph refer to ?
A. Goverments B. Farmers C. Newspapers D. Theories

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs
correction in each of the following questions.

Question 43: The assumption that smoking has bad effects on our health have been proved.
A B C D

Question 44:

The whole matter is farther complicated by the fact that Amanda and Jo refuse to speak to each other.
A B C D

Question 45:

Some manufacturers are not only raising their prices but also decreasing the production of its products.

A B C D
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that s closest in meaning to
each of the following questions

Question 46: The last time | went to the museum was a year ago.

A. A year ago, | often went to the museum. B. My going to the museum lasted a year.

C. I have not been to the museum for a year. D. At last I went to the museum after a year.
Question 47: It is compulsory for all the students to obey the class rules.

A. All the students needn't obey the class rules. B. All the students needn't obey the class rules.

C. All the students can't obey the class rules. D. All the students must obey the class rules.

Question 48: “Be careful or you may get lost and run out of money.”, she said.

A. She advised me to be careful or I might get lost and run out of money.
B. She ordered me to be careful and I might get lost and run out of money.
C. She told me to be careful if I got lost and run out of the money.

D. She warned me to be careful or | had to get lost and run out of money.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each
pair of sentences in the following questions
Question 49: John lent me money. Otherwise, | would have gone out of business.

A. Even if John lent me money, | went out of business.

B. Hadn't it been for John lending me money, | would have gone out of business.

C. I wouldn't have gone out of business if John had lent me money.

D. John lent me money, but | went out of business.

Question 50: The soccer team knew they lost the match. They soon started to blame each other.

A. No sooner had the soccer team started to blame each other than they knew they lost the match.
B. As soon as they blamed each other, the soccer team knew they lost the match.

C. Not only did the soccer team lose the match but they blamed each other as well.

D. Hardly had the soccer team known they lost the match when they started to blame each other.

(Thi sinh khong sw dung tai liéu, can bg coi thi khong gidi thich gi thém)
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